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asalia 3y 5l AU Adlay) ABY) a8 Agdll) AL
AU S 8 ol ABY Lol Agilia a5 (el
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1) |-7| x= V-125 + 5x , X=-——

) V2Th=| V3 |=VIZ ,h=
V32 1 2V'3
6
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e S Gl Ja ol ) el sélagh (e aSUS
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;s el G R e (29|

i) 3y -12=2y - |30 =3y-2y -12= 2y- 2y- |-30] '

= y-12+12=-30+12 = y=-18
ii) 20+2h=3h-32 = 20+2h-2h=3h-9-2h

=20+9=h-9+9 = h=29
i)2x +2y3 =x-3y3 = 2X+2/3 -X=X-3J3 X = X+2/3 =-33

= Xx+203 23 =-2/3-3/3 = x=-5/3

iv)[-3m=10- ¥-8 m = 3m=10+2m = 3m-2m=10+2m-2m = m=10

dacidl) g o pal) Jlaniady c¥slaall 3o [4-1-2]
Solving the Equations by using Multiplication and Division

aaly akier g9 Al c¥olae 8 uicial) e SlayY Ranill 5 o pual) G A8 Janind

S8 5 shaily g Y1 L3530 e U e 55 e JS (e 300

3 Ll Culaiald ¢y 585 3081 e 5 (5 pmn S j31 108l 238 (3) e
5 ‘ ¢ ade JS 3 aOEY) dae Lo Lali 15 Ll sa) (pe saal 5 IS A

5(n-3)=4=15 N ide JS 56 s (o

5(n-3) o Al Jias 1) Astaall 1

4 =15
5(n-3)

7 #H=154) 4 i Gy Kyl
5(n-3)=60 Gosill Jals 3 5 oyl
5n-15=60 Cish JS I+ 15 caual
5n-15+15=60 +15
5n =75 ) 5 sle Cash S andl

n=15 Ll 15 58 2o IS 4 22EY) Sae 1)

Al ) e Lo s 1 (N=15) siial) A o Giase ;e
:

5(n-3)+4 =15
5(15-3)+4 15
15=15

+ Al g o pal) Jlaniaady AU c¥alaal) Ja (4) Jia
) x+12=4 = 4(12)=x = x=4(12) = x=48

i) V3ey+2=|-5 = 6y=2=5 = 6y=10 z%:%z y:%)=> y:%

91

Mutiple Choice M@AJ\_\_\»\;\

R (A Csighis salg psitar (1) 43,00 (o c¥alaa O [4-1] )
Solving Two-Step First Degree Equation with One Variable over R

il Laa 0 Aamal) Aulay) jidl

2 okl s gand) Jlaniady 4000 N slaal) Ja

(1] 5x+ 20 = 4x -10
@y+9=2y-9 Jy=0
[38]-12]z=y8 +13z @ z=2 b)z=4
[2)4n+3J2 =3n-7V2 @n=-4y2 b)n=-10y2 9)n=4Jy2 d)n=10y2

ax=10 b)x=30 c)x=-10 d) x=-30

b)y =18 cy=-18 dy=6
c)z=-2 dyz=-4

(518t-36="7t-36 at=72 bt=-72 t=-30 d)t=0

(6] V64 - f = 16- 2f af=-8 b)f=8
327 x+1= F11+2x  ax=12

f=-24 d)yf=24

byx=-10 ¢)x=10 d)x=-12

+ Aadl) g o pal) Jlarialy 41 e slaal) Ja

@3z+7=1 dz=3% pz=¢ o9z=-%& d9z=-2
J27 X + |-5] = ax=-% bx=-= x=% d)x=--2=
V77 x+ 5= 8 3 x5 7 i

10)t—6=6—4t At=-2 bt= 2 t=-2 =1

6=6-4 7 7 ¥ ¥

B Vsy+8=V5+(-5) ay=-3 by=3F oy=-& ay=%

@ar =7 gm=-%4 bpm=1 gm=% dm=11

[5(k-1)=915 ak=0 bk=-1 ok=-1 k=%

— Q1= (- -2 -.9 =2 =9

(14 |-6|h=81+(-3) ah= S Dbh=-% oh=-§ dh=3
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i)Sy +7=3y-28 = By-3y=-8-7 = 2y=-15 = y=

(5) J&a
-15
2

i) 16 X - 3Y7 =4/9X = 4x-3J7 =3x = 4x-3J7 - 3x = 3x -3X
=x-3J7=0 =x-3J7 +3J7 =0+3J7 = x=3J7
iii) 3(6t + 5)=3 (3t+12) = 18t+15=0t+36 = 18t-9t=36-15

= 0Ot=21 = t:% t:%
7 M) 607 7w 1 7
V) 5 =55 5 T 20 4 T 2710 XT3

Ol s (B £y ) i A S G g S5

(1) 4x-10=3x+20
@) y+2=y-3

a 25+m=2m- 16
Vag -d =21-2d
[8) F13x= 327 +12x [6) 7y-62=6y-36

@ sh+af5=2n+705 [B) Vo x =|-17]+2x .
’ : 0 s o (g Faml) 5 el oy Bt G

(1-8) ALyl
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i 1
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3x-2x =3V2 -V2 =x=2V2
©®\V3h+4=V3h+38

8V3 h-4V33 h=0=h=0
(4 2z 6

3z V2
25 2=6x3V7T = 7= 9
Ly XCp il G A g ol cpilalaall JA©
)3(x-V2 )=2V7 +2x

3x-2x=2V7 + 2V7T = x=5VT
i) 2y = 3V7 =20+ |-3|

6y=60V7 =y=10V7

y = 2X : b A8l

. pea) i 5 T ) s i Ol (e el 3 IS
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- AUl Yol s
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[4-1] ool Gl e Sl

R & (i ghds aaly paiay AoV da pall e O s

Gy 4Ly
1 (x=20+10=30 22 4x-3x=19 = x=19
2 [m=25+16=41 23 [20y=24 = y=
3 |y=16-3=13 24 |3z=7x27 = z=63
4 |d=21-7=14 25 [v=8+8=16
5 12x=-3 = x=- 2 26 9
13x -12x=-3 = x=-3 ] 5V2 x= 9V 2 = x==
b
6 |y=36-36=0 4 [ 27 L 2
= 3V3 y= )/ fipp—
} 3V3
7T |h=7V5 -4/5 =3V5 J 28 | 56h=56x16 = h=16
8 |3x-2x=17 = x=17 29 |5k=-35 = k=-7
96—16=> -8 308—6=>—3
X = X =3 n=- n=-—
. 10 | 2y=54 = y=27 3l |5x=6x = 6x-5x=0= x=0
9 11 14 32 | A Al lé x patially (5 el Jandll () (a4
3 Sm=14 = m=— . )
) S ot Alldl) Jias
= 11x+6=28
S} X_ﬂ_
12 12 33 | fay Bae o aly aall g8 ) (a8
5V3 z=12V3 = z=— .,a 180 6 Y = erielies
5 — =— = y=300m
j y 10
— 3 =32-15=17
13 WVF x=2 x= 2 4 34 |n 5
3V 5 3 13,817 s 25,8l aac A
14 |30y=90 = y=3 35 |3d Jshll 0sSé d s dshidl m e (i
I5 |12h=8-10= h=-1 PAEIPOA (I
2(d+3d)=52
19.5 Jshll 5 d=6.5 L= all o sSa
16 1 36 |2V =8V = —
ld4n=.7 = n=-— 2V 2 x=8V2 x=4
17 [y=2+20=22 37 |[10f—11f=4 = f=-4
I8 |x=-5-9=-14 38 1
' 125v=25V 5 = v=
7 19 |h=23-6=17 39 26 sy pae 1l @5h 2au jee
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:1 A 2 98 Ol 51 6 B dms e
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R uﬁ il glad Bamy sl g riar (oY) A jall e Y Mee (s U‘JJ\

R b i ghad Bang sy ey (A 5¥) Aa ol (e c¥olee (S (RPN
Solving Multi-Steps First Degree Equations with One Variable in R [4_ 2]

) sl § 58 :
D))y daid 600 dabudl e dsodl pedlilaa ds o N
g @Yl Asm lade = hb)‘_”f;f_ﬂ oy
Sl J8 e o 528 (L i ETIYPR j
i 550 ) laale J8 (30 _;.,.3,:1151__.‘15 o

¢ haggiall ol dacle el oo

LagalS i L jha aaf B T pite adali Al el Ja [4-2-1]

Solving the Equations Which has variablein one side or both sides

Jral o L sl b il e (g sing o3 aall O o) ¢ 3al s ysida o (g 5iad (3 Allaall Jal
(e el ) Aiall 2acY) (53 Jlaaiuly Tas) g 4lalas
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600+%><600-n:550 o Al g 3 Astaall
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(1) Jea

1
5 X600 gl

700 - n=550

-n=550-700 u)hk; HJAJ)Q\
-n=-150 (-1) b Aslaall i s ol
n=150

. 4.8 150 54 53 gsdall Cilasdl dac 1A
Ge(LS) ) il Jall e Lgle Clias A (N=150) skl def e e 1dhadll
- adabeall

600 +2x 600-n = 550

LS=600+1 x600-n = 600+100-150 = 550= RS (el hu)

: Aidal) daeY) (al i Jlarialy LU c¥alaal) Ja (2) Jia
0)2(2-8)+16 = |-36] = 22-16+16=36 = 27=36=>7z=36+2 = z=18
i) 4(x -5 3) = 3x - 243 = 4x- 203 =3x- 23

= 4x-3x = 203 - 243 = x=18V3
i) L Gy +107=2 (y-15) = Sy+2-7=2y-6

=»%y- %y:S-G :%y =-1= y=-5
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1) 3(y +15) =4(y - 10) , ¥y=5

2) \3/_27x+|-2|= 6V 2 , X=4V 2
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2) y=-V3 -V3 =.2 V3

4H19m=0 = m=0
Lagie U Ble ) s ile sanall il Jaay o o
S A AYaledll 3 gl e i) e
)2(x- 2V 2 )=x-2V2 , ii)5(y3%= |4

I)x=6
3)n=-9
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dathal) dedl) gaiati AN eVl 3 [4-2-2]
Solving the Equations containing Absolute Value
saall 5 X O Adlsall s i [x] = 3 Je psiall Al Al (e 5 i Al Absbaall 3 )
ST s e 0

4 3 -2 -1 0 1 2 3 4
{3, 3} Adallicnas x=-3 5l x=3L s [x|=3ahbadll Ja 3 13

L U aadall GISA 3 ) o da s i [X-27] = 2 Aabaall & ¢y gl dyas (3) J4a
Ol AGas 8 eI S (5 raall 5 (alaall 3l el Aa 50 3n
- X-27=2 ;L_;U‘Y\jdl;.‘\
X=2+27= x=29
- Loale i )0 29 4 aliall 5 5l all s 53 13
L X-27=-2 FRCEIR
S 07 2 = x=25
s eVl pie o Lol Jall 355 (a4 b B 52 25 (b (s siall 3l pall ds 3 1
Asleall Jall e gana
{29,25 )} »

25 26 271 28 29

: 58 e afiua o Gl Lgbiad ) dilhal) Aal) Alatas Cas]
T 2 3 4 5 6 7 8 9 10 i1 12

(s caaad)  Ailsall Couiia o Akaiill o385 ¢ 3 23all 5 11 20a]) (s Lt Alusal) 2 Aads 3
. > 7 222l
| X-7 | = 4 & A sthaal) Asladll 1A

(4 Jea

123 456 7 8 9101112

LA Y 3 () Ja |
5l } = {-4,-14} Asladdl Jall de sana

2n7=-6 =2n=1=n = %

y+9:5 = y:-4

Hly+9]=5 = {
)y +9] J9m 5= y =14

in-71-6 = 5)={3% foic
2n-7=6 = 2n=13 = n=7

-3 s 5 5 X o Al & i
o3gd Jall e sane G813 ¢ Alos ALl () 55 ) oS Y 4l Ly
(@) WA de sandll & Adladll

iii) [x - 5| =-3
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R (4 Bakaia il ghidy aal g pstiey (¥ Al (e ci¥alaa Ja [4-2] ull
Solving Mlti-Step First Degree Equation with One Variable in R

tel Lae 08 Al ey 330
B Eal) S (ol fi Jlentialy 4000 ey saal) Ja

(1) -8+ x = 12 -2x Jx=-2 bx=-3 ox=3 dx=3

3
Ry =3y+4  ay=-2 by=-B ogy=% oy=2

(8V3(z ) =73 aﬁ:% b)z=-8 c)z:-J% d)z=8
[@Veah=2(h-20)+6 ah=-Y ph=-2 on= dh=2
(51 8(n-7) = 5(n- 9) a)n=-1—3’1 b)n:% c)n=1_31 d)n=-%
) 45 x+151=2/7+7 x=Z Bx=% gx=% dx=2
2+6?l.27:% dy=-4& by=0 oy=L dy=1
+ AV el ga
(8lz-12|=7 a)s={-195} b)s={-19.5} ¢)s={19.-5} d)s={19.5}

[613y-20=v36  as=(Z2.3} n=i3¥ oxB Y os=BR Y

(10 [8t-15=-15  a)s={50}  b)s={5.-5} ©)s={0-5} d)y=@
1 — 3
@|§k+12|—~/5

a)s={-45,75} b)s={-45-75} ¢)s={45-75}  d)s={45,75}

ssn e s e il Ll il Aalhall e Aslea CaiS)

L4 L d
3210 1 2 3 4 5 6 7 8 9 10

a) |x+4]=5 b) |x-4|=5 o) |x+3|=5 d)|x-3|=5
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Solving Second Degree Equations with One Variable in R [4- 3]
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Solving the Equations by Using Zero Product Property
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Solving Second Degree Equation with One Variable in R
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Solving Two-steps Algebraic Inequalities in R [4—4]
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